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f(x)=x°

f'(x)=3x°

f(x)=x*
f'(x) =4x>

f(x)=x°
f'(x) =5x*
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f'(x)=-x
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f*(x) = 6x
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F(x)=-x-1

F()=—2x? +2x+1

f'(x)=-3x+2

f(x)=-3x+2
f'(x)=-3

f)=—"x"
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f(x)=x-1
f'(x)=1

f(x)=-x*-1
f*(x) =-2x




\ f(x)=_ix3—£x+3
\ 2
1 g T 1 1
fr(x)=->x*-=
\\ (x) 3 >
\
!1 [
|
/ f/ f(x)=x*+6x> —x* —30x
EEN RN N ERKENE () =4x° +18x" ~ 2x~ 30
Y EEE
\
i \I
H\. f(x)=—x* +5x+1
a2k fl/g : 51‘55 f'(x)=-2x+5
.
2y \\
Jﬂ’ 1.
Je'" \".
i
|
[
A
{ :'."'\ IIiI
.ff \ / f(x)=x>-3x*>+3
1 ; ff VK : f'(x) =3x* —6x
J
|
(
IJ!
J




f(x)=x° f(x)=x°

f'(x) =2x f'(x) =2x
f(x)=x° f(x)=x°
f'(x) =3x? f'(x)=3x°
f(x)=x" f(x)=x*
f'(x) =4x° f'(x) =4x>
f(x)=x f(x)=x°

f'(x) =5x* f'(x) =5x*



f(x)=—x?
f'(x) =-2x
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f'(x) =—x

f(x)=3x*-3
f'(x) =6x

1
f(x)==x>+x?
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f'(x) = x%+2x

f(x)=—-x?
f'(x) =-2x
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f'(x) =-x
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f'(X) = x* + 2x
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f'(x)=-x-1
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f'(x)=-3x+2
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f'(x)=-3
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f'(x)=—x-1
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f(x)=e*+2
f'(x)=—e""

f (x) =sin(x)
f'(x) =cos(x)

f (x) =-2-sin(x)
f'(x) =-2-cos(x)

f(x)=2-sin(3x)
f'(x) =6-cos(3x)

f(x)=e™+2
f'(x)=—e""

f (x) =sin(x)
f'(x) = cos(x)

f(x) =-2-sin(x)
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f(x)=2-sin(3x)
f'(x) =6-cos(3x)
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